Project Plan

Not Understood;

Why not just use the way an Optical Mouse gages movement. Will no required second CCD array?


Uses CCD camera anyway, cost$$$


Will the project in its completion be required to have an LCD array attached for completeness?

There are 128 pixels but only 17 are within the lens area? (p53)  Due to AIC sample rate


Could not find thesis for Dellavolta on wireless headset?


Why is 11 for dot 1, column one, scanword 3, table 11 (p130), (ref p 55)? Is typo


Why will linear motion detection allow a reduction of scans from 200 to 75? Was 200 due to codewheel


 Would it be good idea if a beep sounds if samples 5,6 are different to samples 20, 21 ie the scanner is not 
correctly vertically aligned and is scanning a dot? Yes is good idea

Project Plan Requirements:


1. Intro


2. Past investigations


3. Preliminary results


4. Time Line 


5. Conclusions / References

1. Introduction

2. Past Investigations


Refer to “Past Research” (p 5) in Iain Murray’s Optical Recognition of Braille thesis.

3. Preliminary Results


Refer to Iain Murray’s Optical Recognition of Braille thesis.

4. Time Line

What needs to be done.

1. Adapt quadrature linear motion detector to determine scanner velocity.

- can we reduce codewheel gear arrangement to reduce scans per inch.

2.  To convert all the code written for the TMS320C50 to work on a 5402 evaluation board.

What DSP code will need to be altered (Is not a lot)? Do they have the same instruction set (in that case do only need to change memory, I/O allocation)?

What host source code will need to be altered to work with 5402?

!!!Code Composer IDE has function to translate code from dsp to dsp in 5000 series called Tap5000

In doing so it would be optimal if the number of samples per vertical slice could increase from its present 21 (limited by AIC sampling rate) to the actual number of pixels ie 128

Would  be good idea if a beep sounds  / red led lights up if samples 5,6 are different to samples 20, 21 ie the scanner is not correctly vertically aligned and is scanning a dot.

3. To complete the interfacing of modules.

What modules have not been interfaced?

4. To reduce the number of words required for cell map storage.

It is possible through optimization to reduce the number of cell maps from 2048 to 64.

5. To apply fuzzy logic fundamentals to reduce positional errors resulting from the indeterminate nature of where vertically the lens is in relation to the braille line (currently there is an overlap in dot position in the scanword).

6. To reduce the power consumption of the illumination system.

a. Is a consideration in portable devices when drawing power from a battery. 

LED’s only to be on for the 10 milliseconds when linear motion is detected will reduce the illumination period (and hence illumination usage) by 75/200. 

7. To improve the ergonomics of the scanner to allow easier use and less positional errors

Incorporate tracks to keep scanner in a straight line on the page, use non-differential tracks

To include a button the user holds when they are scanning, will allow them to lift off and rescan missed words.

Gantt Chart.


Order of Completeness-



1.adapt quadrature linear motion detector



2. remove code wheel arrangement



3. to adapt a button the user presses when they want to scan



4. Write motion detection code and test.

Possibilities: 


If running behind schedule, will drop



1st .  6)  Power consumption of illumination system.


2nd.  7) To reduce the number of scan words required for cell map storage.

